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Notes and reminders

• Upcoming: Quiz 2 (Friday, different room/time)


• Please fill out FCEs!
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Time series: observations
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Model: transitions
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Model: observation likelihoods
P(observation | state) for given observations, all states
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Inference: filtering distributions
P(statet | all observations up to t)



Backward filtering distributions
P(all observations after t | statet), normalized



Marginal state posteriors
P(statet | all observations)



Zoom of marginal state posteriors
with true hidden states marked
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